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Math 130

Quiz 14
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Name: S"luhens

l ' (10 points) Agriculture: Groundwater.-unfortunately, arsenic occurs naturaly in some groundwater. Amean arsenic level less than 8'0 parts per billion lppb) isionsidered safe for agricultural use. A we1 in Texas is
}|.tX,t:,ffi:illffi;ii:welljs-tes"d o., a.eg,rlaibasis for arsenic. a ,*piJof 8 tests of this *"ir r"ua to the

Some formulas you may need:

Does the data indicate that the
Ievel?

Arsenic

'level of arsenic in this weil is safe for agricurtural use at the 0.0r significance
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Extra Credit

1. (3 points) what does the 0.01 mean when a hypothesis test is performed at the 0.01 significance level?
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2. (1 point) What is a tYPe I error?
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3. (1 point) What is a tYPe II error?
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